65. JKEKIL
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(1) _E/ki&
O i 3% %% Bk A0 Y= A K& R R
(7 D) N =) () (%)
SRR 194ERE 5 53,746 20,695 5,659,494 46.2
SRR 204 5 53,285 20,992 5,548,115 46.0
SRR Q1AERE 5 52,871 21,136 5,510,599 45.7
SRR 224 5 52,466 21,288 5,544,541 45.5
SRR 28R 5 52,193 21,468 5,433,128 45.4
(PESEHIIX) 2 12,963 5,932 1,576,699 21.4
(PP Hl[X) 1 22.294 8,828 2,240,266 69.8
(FFE HEX) 1 7,774 3,256 794,179 59.6
(/A X) 1 9,162 3,452 821,894 98.5
A k244 3 H31HBEAE
‘ TR =K AO -+ HIK AN
Bk KESERR
(2) S5 7KiE
R it % %% YN YN RS 7K E R H
(7 i) [ON) ) (m) (%)
N oka iy 3 4,120 1,768 468,089 3.5
SRR 204 3 4,057 1,777 453,240 3.5
SRR QAR 3 4,028 1,784 448,006 3.5
SRR 224F 3 3,962 1,786 458,230 3.4
SRR 234E 3 3,871 1,783 456,170 3.4
(PH S HEX) 2 1,288 649 176,989 2.1
(FHEHIX) 1 2,583 1,134 279,181 19.8
o SER%244E 3 H31HEBIAE
o ERR=IK AT KA
(ERRISEES
(3) PO 9 BbikiE
R i % % HBIKEZERR | FRGKE
(7 m) (i)
SRk 194E R 1 71 338,784
SRR 204E 1 71 323,569
SRR QAR RS 1 72 364,629
PR 224 1 72 407,360
SRR 234F 1 70 397,125
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